000000h

Active Partition

400000h

Inactive Partition

000000h

Active Partition

400000h

Inactive Partition

Partition 1

BSEQ =10

Partition 2

BSEQ =15

Partition 1

BSEQ =10

Partition 2

BSEQ =15

000000h

000000h

Partition 1

BSEQ =10

Partition 2

BSEQ =15

Partition 2

Partition 2
BSEQ = 15
BOOTSWP Instruction— Reset
400000h 400000h
Partition 1
BSEQ = 10
000000h 000000h
Partition 1
BSEQ =10
Reset
Reprogram BSEQ —J) ese
400000h " 400000h
Partition 2

BSEQ =5

Partition 1

BSEQ =10




